Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

#### **CHECK LIST SERIAL NUMBER-4**

#### **DETAIL NOTE ON THE PROJECT**

Vijay Dhaka, Executive Engineer of Municipal Corporation, Faridabad (Haryana) providing Sewerage System in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana). The land measuring is 3.5 Hectare falling in the revenue estate of District Faridabad (Haryana). The total project cost in this project is Rs. 226.96 Crore approximately.

Date: <u>17-09-2019.</u>

Place: Faridabad

Signature of User Agency
Office Seal

EE, MCF

Countersigned by :-

Divisional Forest Officer Faridabad Forest Division Office Seal

Dy. Conservator of Forests

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

#### CHECK LIST SERIAL NUMBER-07

## STATEMENT SHOWING DETAILS OF FOREST AREA

#### INVOLVED IN THE PROPOSAL

District	Division	Range/ Tehsil/ Village	Khasra/ Survey or Compartment Number of Km. Stone	Forest Area proposed for Diversion	Present land use	Remarks
	2	4	5	(Ha.) 6	7	8
Faridabad	Faridabad	Faridabad/ Faridabad/ Kheri & Mirzapur	Govt. Land	3.5 Ha.		 1

Date: 17-09-2019.

Place: Faridabad

Office Seal/IJAY DHAKA

Forwarded by :-

**Divisional Forest Officer Faridabad Forest Division** 

Office Seal\_

Dy. Conservator of Forests Faridabad

In Table of the Project :

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

<sub>e No.</sub>: <u>FP/HR/Others/41984/2019.</u>

te of Proposal : 10.09,2019.

## CHECK LIST SERIAL NUMBER-08

# STATEMENT SHOWING DETAILS OF NON FOREST AREA

#### INVOLVED IN THE PROPOSAL

District	Division	Range/ Tehsil/ Village	Khasra/ Survey or Compartment Number of Km. Stone	Non-Forest Area proposed for Diversion (Ha.)	Present land use	Remarks
	3	4	5	6	7	8
Faridabad	Faridabad	Faridabad/ Faridabad/ Kheri & Mirzapur	Govt. Land	0		

ate: 17-09-2019.

lace: Faridabad

Signature of User Agency

Office Seal VIJAY DHAKA

Forwarded by :-

**Divisional Forest Officer Faridabad Forest Division** Office Seal\_

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

#### **CHECK LIST SERIAL NUMBER: 9**

# JUSTIFICATION FOR LOCATING THE PROJECT IN FOREST AREA TO BE SUBMITTED BY USER AGENCY AND COUNTRE SIGNED BY DFO

Most suitable location for Providing Sewerage System in Civic Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana) and strip along this road is declared as Protected Forest. As we have no other approach road falling in non-forest area, therefore, it is necessary for us to use Protected Forest Land for Providing Sewerage System. Total forest land proposed for diversion in only.

Date: <u>17-09-2019.</u> Place: Faridabad. Signature of User Agency
Office Seal IJAY DHAKA
EE, MGE

Forwarded by:-

Divisional Forest Officer, Faridabad Forest Division, Office Seal \_\_\_\_\_

> Dy. Conservator of Forests Faridabad

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

3

#### CHECK LIST SERIAL NUMBER-10

## JUSTIFICATION FOR LOCATING THE PROJECT IN FOREST AREA

In this connection, it is intimated that 3.5 hectare forest land used for providing Sewerage System in Civic Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

Date: 17-09-2019. Place: Faridabad.

Signature of User Agency Office SeaVIJAY DHAKA EE. MCF

Forwarded by:-

Divisional Forest Officer, Faridabad Forest Division, Office Seal \_\_\_

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

#### **CHECK LIST SERIAL NUMBER-11**

### CERTIFICATE FOR MINIMUM USE OF FOREST LAND

This is to certify that the forest area involved in the proposal unavoidable and parest minimum forest area i.e. 3.5 ha. area is proposed diversion.

Date: 17-09-2019.

Place: Faridabad

Signature of User Agency
Office Seal\_VIJAY\_DHAKA

Forwarded by :-

Divisional Forest Officer **Faridabad Forest Division** Office Seal

Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

THE NO. : FP/HR/Others/41984/2019.

<sub>nate of Proposal</sub>: 10.09.2019.

## **CHECK LIST SERIAL NUMBER-12**

## UNDERTAKING FOR PAYMENT OF COST OF COMPENSATORY **AFFORESTATION**

I/We, Vijay Dhaka, Executive Engineer, hereby, undertake to pay the entire imount for compensatory afforestation in lieu of the forest area diverted for Providing Sewerage System in Civic Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana) as per prevailing wage rates at the time of plantation.

Date: 17-09-2019.

Place: Faridabad

Signature of User Agency
Office Seal

EE, MCF

Forwarded by :-

**Divisional Forest Officer** Faridabad Forest Division Office Seal\_\_\_

Dy. Conserva or of Forests Faridabad

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09,2019.

## CHECK LIST SERIAL NUMBER-13

## UNDERTAKING FOR PAYMENT OF NET PRESENT VALUE OF **FOREST AREA**

It is to certify that I/We have Vijay Dhaka, Executive Engineer, applied for diversion of 3.5 ha. of forest area for Providing Sewerage System in Civic Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

I/We, hereby, undertake to pay the net present value (NPV) of the above forest land. I/we also hereby undertake to pay the additional amount of NPV, if so determined as per the decision of the Hon'ble Supreme Court.

Date: 17-09-2019.

Place: Faridabad

Signature of User Agency

Office Seal VIJAY DEIAKA

Forwarded by :-

Divisional Forest Officer Faridabad Forest Division Office Seal\_

Diversion of 3.5 Hectare of Forest Land for Providing Sewerage System (Along Agra Canal, Kheri Village to Mirzapur Village, Left Side, Length 7 KM. (7000 Mtr.) X 5 Mtr. Width = Total 35000 Sq,Mtr. Or 3.5 Hectare Forest Area Required) in Civil Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

File No.: FP/HR/Others/41984/2019.

Date of Proposal : 10.09.2019.

#### CHECK LIST SERIAL NUMBER-13A

#### UNDERTAKING FOR PAYMENT OF NET PRESENT VALUE OF **FOREST AREA**

It is to certify that I/We have Vijay Dhaka, Executive Engineer, applied for diversion of 3.5 ha. of forest area for Providing Sewerage System in Civic Amenities and Infrastructure Deficient area and other Approved areas under AMRUT Programme at Faridabad Town under Forest Division and District Faridabad (Haryana).

I/we also hereby undertake to pay the additional amount of NPV, if so determined as per the decision of the Hon'ble Supreme Court.

Date: 17-09-2019.

Place: Faridabad

Signature of User Agency
Office Seal HAY DHAKA

Forwarded by :-

Divisional Forest Officer Faridabad Forest Division Office Seal\_